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Polar bears are being increasingly threatened by the effects of climate change, but their disappearance
could have far-reaching consequences. They are uniquely adapted to the extreme conditions of

the Arctic Circle, where temperatures can reach —40°C. One reason for this is that they have up to

11 centimetres of fat underneath their skin. Humans with comparative levels of adipose tissue would
be considered obese and would be likely to suffer from diabetes and heart disease. Yet the polar bear
experiences no such consequences.

-~ (SIHF 16-Test1-55 1 £5)

The possibility that critical analysis, empathy and other deep reading processes could become
the unintended ‘collateral damage’ of our digital culture is not a straightforward binary issue
about print versus digital reading. It is about how we all have begun to read on various mediums
and how that changes not only what we read, but also the purposes for which we read. Nor is it
only about the young. The subtle atrophy of critical analysis and empathy affects us all equally. It
affects our ability to navigate a constant bombardment of information. It incentivizes a retreat to
the most familiar stores of unchecked information, which require and receive no analysis, leaving
us susceptible to false information and irrational ideas.

-- {EIFF 16-Test4-%5 3 B)
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Number of correct
IELTS band score
Reading answers (A)

39--40 9

37--38 8.5

35--36 8

33--34 7

30--32 7

27--29 6.5

23--26 6

20--22 5.5

16--19 5

13--15 4.5

10--12 4

6--9 3.5
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Part 1

Read 1he text below 3 Snswer qUESans 1-13.

‘Why we need to protect polar bears pro—
Polar the effects bt They are uniquely adaples
S of the Arctic Circ -40°C. his s that they have up 1o 11 centimetras skin " "
Humans with e considersd kel o sufler dsease. Yot the polar bear experiences 0 quaions 17, chooss
no such consequences. TRUE it the sastement agroes wih the information
A 2014 stucy by Shi Ping Liu and collesques shes ight on this mysiery. They eompared the genelc sirucéure of polar bears with St of hels coses! relatves fom a FALSE it stalamant caniadics ha imalion
warmer cimate. the brown bears, This allowed them to determine the genes that have allowed palar bears to survive it one of the taughest emdronments on Earth, Liu and NOT GIVEN i there is o nformaon on s
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y ¥ raduced Bone tissua is constanty baing remadsiied, meaning that
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their cubs. This process results in sbout six months of fasting, whe the fomale bears have 1o keep themslves and their cubs alive, depleting their awn calcium and
caloria ressrves. Despie fhis. their bones remain sirang and dense. & Polar beass are obie et
P and faund an this paradax in 2008, They discaverad that pragnant iears were abla fo ncrease the dansiy of B L o e T R
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RIRPR EEXEFRMA
EHPR (BRI RAMURE ) |
B [XEE].
HEFTREINESTE [XBiEA] or [HAXKE] Ba¥.
Za¥ (FREREXTHELETA), MHER.
[BNERE] AEXELME, ExXEDgTR ERER)

BH1: B XWARATHA?

REATHDEMNBIFEMAED, MAATiEAMNAED L FH, 2T [2aB]) R
L [AeXEA)] MEMAE,

ol & —bAstiEE A4, mAEe L [H8F Rl

B4 2: ME DMk [ {e%#eh] %2

® AE1: RUPRELANME (Go: FRALEA: polar bears)

® A2 HALIRENMIA (is, a, the, of %)

® K3 AEMFEN, 2FEZ2FAKA AIIKDEF (use, other, name %)

BH3: MR 2x8E (AHTRE] R?

® APE1: BIR, IR FAy, LAR(HE . KEWHM L AL, T L KiEF: Cambridge
University; Shi Ping Liu; Al)

® ME2: REDHWEKAEIF: fat (&i9), skin

® AE3: EAMIEENE [LL3F]): various health problems (X Fii4E 2 £ ELAKGY
[ T3] :diabetes, heart disease)
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® AR 4: BEREHAIIE: due to

BF 4: dfTRAHAAFRLN [AXKE] ?

Zik— (etr): BRAMA, THREEEZH [AXKE5E%]

[#1]

® unintelligent and violent (G2 H)

® violent and stupid (J&X)

[#]2]

® FEarth’ s surface (1 H)

® the surface of Earth (J&)

[#]3]

® a2 photographer was located:: (i H)

® 2 photographer standing on--- (&)

Zik= (BA): #4 [£EF], ARAERIPRHFLKS

[#11]

® advertising (A H)

® relentlessly and aggressively marketed (J& )

[#]2]

® survive without food (A H)

® fasting (RX)

[#]3]

® researchers have disagreed on a definition of -+ (ZZH)

® full consensus on a formal definition eludes the researchers (J& X)
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A variety of question types is used, including: multiple choice, identifying information
(True/False/Not Given), identifying the writer’s views/claims (Yes/No/Not Given), matching
information, matching headings, matching features, matching sentence endings, sentence
completion, summary completion, note completion, table completion, flow-chart completion,
diagram-label completion and short-answer questions.
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Questions 1-7
Do the following statements agree with the information given in Reading Passage 1?

In boxes 1-7 on your answer sheet, write

TRUE if the statement agrees with the information
FALSE if the statement contradicts the information
NOT GIVEN | if there is no information on this

1  Polar bears suffer from various health problems due to the build-up of fat under
their skin.

The study done by Liu and his colleagues compared different groups of polar bears.

Liu and colleagues were the first researchers to compare polar bears and brown
bears genetically.

4  Polar bears are able to control their levels of ‘bad’ cholesterol by genetic means.
Female polar bears are able to survive for about six months without food.

6 It was found that the bones of female polar bears were very weak when they came
out of their dens in spring.

7  The polar bear’s mechanism for increasing bone density could also be used by
people cne day.

1. PR 1 FuE (B2 ERE], =l (Xl
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2. BRI 2. NS, diEPUsERe s TR [XiEE]
or [HARNNE] B+

3. FREZER 3: IRIBZAF (AREFEXTHLTR), @
EEEEO

[True]

Bl
® FH: Polar bears are able to control their levels of fbad’ cholesterol by genetic means.

® [E3C: polar bears had a gene known as APoB, which reduces levels of low-density
lipoproteins (LDLs) - a form of ‘bad" cholesterol

[False]

® FiH: Itwasfound thatthe bones of female polar bears were very - when they came
out of their dens in spring.

® =3 Despite this, their bones remain _

[Not Given)

® JEX: A 2014 study by Shi Ping Liu and colleagues sheds light on this mystery. They
the structure of with that of their closest relatives from a
warmer climate, the

® FHE: Liuand colleagues were - researchers to

Xn:
® [E3C: JERAEBAIG KL,
® TH: JbtRpEFREERIIG K4,
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® HH: HTRENHRMIK, FREHIRKLE.

4. BELR 4. EEPR 1-3, BRFKEH.

AR BREA [HEE], SRR, BEITE R

Questions 23-26

Do the following statements agree with the views of the writer in Reading Passage 27

In boxes 23-26 on your answer sheet, write

YES if the statement agrees with the views of the writer
NO if the statement contradicts the views of the writer
NOT GIVEN | ifitis impossible to say what the writer thinks about this

23 The medium we use to read can affect our choice of reading content.
24 Some age groups are more likely to lose their complex reading skills than others.
25 False information has become more widespread in today's digital era.

26 We still have opportunities to rectify the problems that technology is presenting.

HE—EETE XFMHASHAE TRUE/FALSE/NOT GIVEN, & YES/NO/NOT GIVEN,
CERETFERERMARNNER)
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Questions 8—-13
Complete the table below.
Choose ONE WORD ONLY from the passage for each answer.

Write your answers in boxes 8—13 on your answer sheet.

Reasons why polar bears should be protected

People think of bears as unintelligent and 8

However, this may not be correct. For example:

e In Tennoji Zoo, a bear has been seen usingabranchas a 9. .
This allowed him to knock down some 10 ... g

e  Awild polar bear worked out a method of reaching a platform where a
1 was located.

e Polar bears have displayed behaviour such as conscious manipulation of
objects and activity similar to a 12

Bears may also display emotions. For example:

e  They may make movements suggesting 13 ... if disappointed
when hunting.

e  They may form relationships with other species.

£ 1: Wik (51 2 1=EaT], il [,

BE: W2 (AT 2 AE]) #6472
F A [REa] AAERFEAY, BERZ—ANE, BREETET—AZHRT,

12
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RIRPR EEXEFRMA
EHPR (BRI RAMURE ) |
B [XEE].
HEFTREINESTE [XBiEA] or [HAXHKE] Ba¥.
Za¥ (FREREXTELETA), MHER.
[BNERE] AEXELME, ExXEDRgTE ERER)

BH1: BXWARATHA?

REATHDEMNBIFEMAED, MAATiEAMNAED L FH, 2T [2aB]) R
L [AeXEA)] MEMAE,

ol & —bAstiEE A4, mAEe L [H8F Rl

B4 2: ME DML [ {e%#eh] %2

® AE1: RUPRELANME (Go: FRALEA: polar bears)

® A2 HALIRENMIA (is, a, the, of %)

® K3 AEMFEN, 2FEZ2FAKA AIIKDEF (use, other, name %)

BH3: MR 2x8E (AHTRE] R?

® APE1: BIR, IR FAy, LAR(HE . KEWHM L AL, T L KiEF: Cambridge
University; Shi Ping Liu; Al)

® ME2: REDHWEKAEIF: fat (&i9), skin

® AE3: EAMIEENE [LL3F]): various health problems (X Fii4E 2 £ ELAKGY
[ T3] :diabetes, heart disease)
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® AR 4: BEREHAIIE: due to

BF 4: dfTRAHAAFRLN [AXKE] ?

Zik— (etr): BRAMA, THREEEZH [AXKE5E%]

[#1]

® unintelligent and violent (G2 H)

® violent and stupid (J&X)

[#]2]

® FEarth’ s surface (1 H)

® the surface of Earth (J&)

[#]3]

® a2 photographer was located:: (i H)

® 2 photographer standing on--- (&)

Zik= (BA): #4 [£EF], ARAERIPRHFLKS

[#11]

® advertising (A H)

® relentlessly and aggressively marketed (J& )

[#]2]

® survive without food (A H)

® fasting (RX)

[#]3]

® researches have disagreed on a definition of -+ (Z& H)

® full consensus on a formal definition...eludes the researchers (J& X)

16
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Questions 14-20
Reading Passage 2 has seven paragraphs, A-G.
Choose the correct heading for each paragraph from the list of headings below.

Write the correct number, i-ix, in boxes 14—20 on your answer sheet.

List of Headings
i The areas and artefacts within the pyramid itself
ii Adifficult task for those involved
iii A king who saved his people
iv A single certainty among other less definite facts
v An overview of the external buildings and areas
vi A pyramid design that others copied
vii An idea for changing the design of burial structures
viii An incredible experience despite the few remains

ix The answers to some unexpected questions

14 Paragraph A
15 Paragraph B
16 Paragraph C
17 Paragraph D
18 Paragraph E
19 Paragraph F
20 Paragraph G

1. B 1: FE [FFS Headingl, EH [XiEiR],

i % Heading 789 [ 5 %]

17
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2 & Heading AR [ ABE4EE] 4915 (do: M55, a task)

2. BRZIE 2 {EXE, , #BEEMF Heading List
HE—TEEB51EAY Heading.

2% 1: Heading e R X9 B K S 1R 2 .
EFE2: WA TRARBEES A, , mAH R, ZEARMELK,
EFE 3 —REATRAB AL ANRE Gedi M), , Faig

AR R IEMZ G, B RHAINIZEEY Heading.

3. EbaxX. WEIAPRBERE#] Heading RIPTED

EET A — 3 Heading £ % 489,

. [ZiEd] BESER

JU

MR (§IF 16-Testl-F 2 &)

Questions 25-26
Choose TWO letters, A-E.
Write the correct letters in boxes 25 and 26 on your answer sheet.

Which TWO of the following points does the writer make about King Djoser?

Initially he had to be persuaded to build in stone rather than clay.

There is disagreement concerning the length of his reign.

He failed to appreciate Imhotep’s part in the design of the Step Pyramid.

A few of his possessions were still in his tomb when archaeologists found it.
He criticised the design and construction of other pyramids in Egypt.

moow>»
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1. PP 1: Finise , Bl [X#giA ).

BE: ALY, ZHARRE—HM, APLABAMNIEN: ©FREGRILEEZRL?

SRR 1 LF , der mE—H. RERK

B ARFE [2L2iz])

B . AT X412 Djoser, Ak LF & Lttt 42 Djosers
(B4, BALLHELEES, UESH R [ZEAD

Hb, AL A,

B 2: XA T XEE T ZDjoser, fa A —> %.? (4o % — 549 Imhotep)
ARk, To FiR B F| Imhotep I H & kiR RiR,

2. RESR 28X E. IEPAEEIE s T X [XEA]
or [REXME] HF.

3. BRELR 3: iRiEiZzAF (AREFEEXTHLTA), M
&R,

A SHMNERET, BLAHA[FFRAILELEFA)Y Z2#A [RILARR]) KiX—
SEE, AEgmbsE [AerA]) 49 [False) or [Not Given) #9:%7.

B, ABXEHMEEE

FlAAT AL, HMERTOAFEET: [FErA). [BAZA]) [Heading ) [ %A ],
X & & [Fwral. [BazEal
& [BA=EAL
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[Heading M) ¥ E &5, MEE [ALIHFER] BRI GRLKXBELLE [£
Y%, W, W), B [Heading M) ZARABMAL TR, £F—AAA (25 48 2 KA
[ZE#ETty—ER],

(13 2]

LA B, R RINBATA) 6% —A=AT89 Egyptian B2 =R LA D £ 49 Egypt,
ARG —ARHE: il [ATZB) HAESTEARA, Bl =&, TP 2ok
LR A,

[AFECHES]

N SHEL

1. BUSBRITER

2. F3 (8K 16-Testl-5F 2 B) HEAUN, HITEFHBER. BE/AARATR. #W (17
MER],

(FErHEe] 84 [EX+@ B ER R REERE] + [BENRXNEX NS RIAEE]
+ [ERBENH&EE]

3. MA [BEW], #TERES.

20



BHEA KA B MEE
BU/BUE AT BHELKHNBFEINEE

Day4: [Fhm@BieEif () ((alftE 16-Testl-55 3 /=)

—. (83 16-Test1-FE 3 E) BT
—. BESHESE

RIRPR EEXEFRMA
EHPR (BRI RAMURE ) |
B [XEE].
HEFTREINESTE [XBiEA] or [HAXHKE] Ba¥.
Za¥ (FREREXTELETA), MHER.
[BNERE] AEXELME, ExXEDRgTE ERER)

BH1: BXWARATHA?

REATHDEMNBIFEMAED, MAATiEAMNAED L FH, 2T [2aB]) R
L [AeXEA)] MEMAE,

ol & —bAstiEE A4, mAEe L [H8F Rl

B4 2: ME DML [ {e%#eh] %2

® AE1: RUPRELANME (Go: FRALEA: polar bears)

® A2 HALIRENMIA (is, a, the, of %)

® K3 AEMFEN, 2FEZ2FAKA AIIKDEF (use, other, name %)

BH3: MR 2x8E (AHTRE] R?

® APE1: BIR, IR FAy, LAR(HE . KEWHM L AL, T L KiEF: Cambridge
University; Shi Ping Liu; Al)

® ME2: REDHWEKAEIF: fat (&i9), skin

® AE3: EAMIEENE [LL3F]): various health problems (X Fii4E 2 £ ELAKGY
[ T3] :diabetes, heart disease)
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® AR 4: BEREHAIIE: due to

BF 4: dfTRAHAAFRLN [AXKE] ?

Zik— (etr): BRAMA, THREEEZH [AXKE5E%]

[#1]

® unintelligent and violent (G2 H)

® violent and stupid (J&X)

[#]2]

® FEarth’ s surface (1 H)

® the surface of Earth (J&)

[#]3]

® a2 photographer was located:: (i H)

® 2 photographer standing on--- (&)

Zik= (BA): #4 [£EF], ARAERIPRHFLKS

[#11]

® advertising (A H)

® relentlessly and aggressively marketed (J& )

[#]2]

® survive without food (A H)

® fasting (RX)

[#]3]

® researches have disagreed on a definition of -+ (Z& H)

® full consensus on a formal definition...eludes the researchers (J& X)

22



BHE AR B INEE
B/ RIEARS: $HEAKHBLINEE

=. [3xd] BESR

HERR: (87 16-Test1-58 3 55)

Questions 27-30
Choose the correct letter, A, B, C or D.
Write the correct letter in boxes 27-30 on your answer sheet.

27 The first paragraph tells us about

the kinds of jobs that will be most affected by the growth of Al.

the extent to which Al will alter the nature of the work that people do.

the proportion of the world’s labour force who will have jobs in Al in the future.
the difference between ways that embodied and disembodied Al will impact
on workers.

ooOow>»

28 According to the second paragraph, what is Stella Pachidi’s view of the ‘knowledge
economy’?

A ltis having an influence on the number of jobs available.

B Itis changing people’s attitudes towards their occupations.

C Itis the main reason why the production sector is declining.

D ltis a key factor driving current developments in the workplace.

29 What did Pachidi observe at the telecommunications company?

A staff disagreeing with the recommendations of Al

B staff feeling resentful about the intrusion of Al in their work

C staff making sure that Al produces the results that they want

D staff allowing Al to carry out tasks they ought to do themselves

30 In his recently published research, Ewan McGaughey

challenges the idea that redundancy is a negative thing.

shows the profound effect of mass unemployment on society.
highlights some differences between past and future job losses.
illustrates how changes in the job market can be successfully handled.

o0Ow>

1. 1 Mg (AmEREiET], Eth [XKEal.

BE: A A [F0EAT 2 A ] 3E4T2

FA ] AIf2aiFHae, Bre—Ma, BIRERATHET—ATHT,
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3. BRESR 3: RiRZAF (BRBEEXTIRLTA), M
mﬂao

EE KEBHFEA, A ANBEST—NERA,
A2 BRMEREN, E2AHR [(FRIUEZEETA) Z2#HE [RIARA)L AKX
— B FE, BiEdmbst L [AlErA] 49 [False] or [Not Given] #9357,
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[NBEERE] BALR

HERR: (87 16-Test1-58 3 55)

Questions 35-40

Look at the following statements (Questions 35-40) and the list of people below.

Match each statement with the correct person, A, B or C.

Write the correct letter, A, B or C, in boxes 35-40 on your answer sheet.

NB You may use any letter more than once.

35
36
37

38
39
40

Greater levels of automation will not result in lower employment.
There are several reasons why Al is appealing to businesses.

Al's potential to transform people’s lives has parallels with major cultural shifts
which occurred in previous eras.

Itis important to be aware of the range of problems that Al causes.
People are going to follow a less conventional career path than in the past.

Authorities should take measures to ensure that there will be adequately paid work
for everyone.

List of people
A Stella Pachidi
B Hamish Low

C Ewan McGaughey

1. ;1 AEEE, FERXERT [FAR] HEMD
¥ [iEFrEikIn], EhHXHEEE.

BE: A2

[(R&E &) ?

B AL 2%

(ALY &4, ALY ER T AT RA, N5 Hmide.
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2. BREER 2: MIXE, diEPAsERIe s TR [XiEE]
or [HARNNE] B+

3. BRRESR 3: RiRZAF (BRBEEXTIRLTA), M
EEEEO

2% AT L ey INB)] HirE: HRPALTRIEFER —K. (ZHBATHEL)

. ARXENRROS

AuxLEP [2Aa) [M2A) [ALERA) LS aFL20E%I[ARE). UREFE3HE
LEHEA) e FTATRERE, BRUAAZHEA =S RT, IHFTRKIE, hixT2HE,

(ALY ELET o, $—kAAR[4£4: L+it], AL ANGFE [IRAAKR] (Ge:

Dr. Professor),

ZEHAR—A, WTHE [ BN E], & A he/she FAT=K1T, LNFEZHE, LHH
ﬂﬂé>1&éﬁﬂ£ﬂif]*‘/\/\, RERHIET,

AN iy = | S IR B ol Sk

HiEie 1: SRR

AEEENEBFME, me [£EE. BEXE].
RE &R [ALEERA]
FRIEAAE: [FerAa), A=Al [$ga]

26
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T2 ML B+ : [Heading ). [ %24 (BB X2ERHAFT269)]

Hikie 2: XTFAER [KEF]

BH1: XBARHTHA?

RREATHDEMNPIFEMAED, AR TIERMNAEAT LB FH, 2 [2aH] R
L [FesXiEA]) 40K 69 2o

Fik: TB— b RIE® A4, fREEAE [H 8T 4493 ]

2% 2. MEREAREE [ x#oh] ®?
® ME1: RILPREHNWGE (do: M E4919: polar bears)

® X2 ZAFRFENLMNF (is, a, the, of &)
® MA3: AEFREN. 2FE P FAKS RKXEI4973 (use, other, name 3F)

B4 3: MAEZHH2AXENE [(AHTRE] R?

® AR 1: RARILIRGYE]: FAp BAROGR L KB MM L AL, F L KRiEF: Cambridge
University; Shi Ping Liu; Al)

® MR2: NEHMAEE: fat (L3), skin

® HME3: EAMIEELH [ L) various health problems (L E4:/E 2 # BLAKAY
[ F3L35] :diabetes, heart disease)

® MR 4: BT due to

Hi&ie 3: XFEXHEBR [AXHNE]

BF4: efTRIBHABRRLY [AXKE] ?
Fik— Chfn): BIME, THRBIZEHTN [AXKEER]
[4] 1]

® unintelligent and violent (GZH)
® violent and stupid (J&AX)

[ 2]

® Earth’ s surface (1 H)

® the surface of Earth (J& )

[ ]3]
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® a photographer was located::+ (G H)

® 2 photographer standing on--- (&)

k= CGEAR): #A [£iEAF], AMBEAEPIFHRANRALKES
[ 1]

® advertising (G2H)

® relentlessly and aggressively marketed (J& )

[#]2]

® survive without food (4 H )

® fasting (JAX)

[#]3]

® researches have disagreed on a definition of -+ (G2 H)

ful |l consensus on a formal definition...eludes the researchers (J& )
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=]
BU/BUE AT BHELKHNBFEINEE

+. S HEW

1. EUSRBRITER

2. F3)(SIH 16-Testl-5 3 ) FBFEWH, HFER+HBER. BEAIRST. R 48
FEEH

3. AR (BNl #EERES.
N TR B3I R
FREA#A4 -

FI5XFR:

SE1: {3 (60min)

o FEIEIRBIRAMNNEHN AN T o
ERF iR F ] IX ; B L RE B AE I SIS E Y AT S0%AY A &

.zl [RE].

SR 2: WER+REHEAFEE (30min)

& RIEEM? (MEAEENMEARSE? ELOFHE? )

o UXE? (RIEEART? BEAAHET)

AR BEMAN R E R B RHFM— TN, REBBHRERER
I%\ EI\] o

S 3: 23 [[FEEMSE] (120min)
MBI, hE SR
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X TIMEREHEN [#EF], BT EEFRPH F3,
XTMEREHEN BER], THE BRE=E,

T 4: B3 [RBBHMEE] (60min)

SEE AL [HEMIEMENITF. 515 S5EFECHENNER . ZHH/NNXFHER,
B 5: B [{SEGERRRIRIC] &El/ReRSE, R (b
#ZEE] (1min)

8 6: RBIBSREAHMEROE, Tkt 7 FHEPRY (i
Mhizt]1 (60min)

MRX—FREE, RRRKKEXR [BE] ELRXREET, E2BEMEYT

. WA, BE® 7 BELLRF BIHIC i
PRI, BRT HEHR [ERENVE] RBEENZECRAEHNB IR,
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Day5-20 (+8): (SIfff 15-17) }S&+HET+HiEi

Dayl ET) LV
02 | ( (e Test1 HIm) )
Day3 ( &%%ﬁ?{-g%; )
Tow | e
Day5+Day6 nﬁfggg;;fﬁ%a
Day7+Day8 mfﬂﬁ:ﬁfﬁa
Day9+Day10 n_ﬁfgg%;fgg;é—ﬂ
Day11 iAW+ F55ECHS)
Dayl2+Dayl13 nﬁfggﬁﬁgﬁa
L Dayl4+Day15 uﬁfgg%}i;ﬁaa
Dayl6+Dayl7 mfgggﬁﬁa
Day18+Day19 nﬁfggggigga
I
UTF8XARBTRH
BWESHHT
Day21-22 mfggﬁiiﬁgaa
Day23-24 Mf%ﬁiﬁz%ma
Day25-26 nﬁfggg;f%a
Day27-28 mﬁ%ﬁiﬁiﬂga
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Day7-8: (&7 16-Test3)

—. [BEEELERE] RESR

MHBRER (87 16-Test3-28 2 &)

Questions 14—19

Reading Passage 2 has eight sections, A-H.

Which section contains the following information?

Write the correct letter, A-H, in boxes 14—19 on your answer sheet.

14 an explanation for weapons being left behind in the mountains

15 areference to the physical difficulties involved in an archaeological expedition
16 an explanation of why less food may have been available

17 areference to the possibility of future archaeological discoveries

18 examples of items that would have been traded

19 areference to the pressure archaeologists are under to work quickly

RS EM [Heading ] 2

S 1 ik (Friseiil, il (K],

x5 [ 5 4]
EEAR [HMABIERE] 09358 (do: physical difficulties)

2. BBELR 2: ENE, Gk, SEEOEFESE—
TETS S EMEIA,

ER 1 RTRLBY K SRR [HdE, 2%, 4% vs Bk, @miib],
&2 LA TRARENE LA, TUTEHTHAL, AR, ZERIFRE,
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ER 3 —HBETRAB ALV E QA RA), FAT iz B
AR R AW Z )G, B RAINAA,

3. HbER. WRIAPREEREHI IR AL

EREFABER—R A [——EHR] HXR,

EE:
[fZ8rfEA])] # [Heading ) Aatt, B H o) EAesE EAMREL?

EZHege: [FE&rRmA] F, REX-ARBEARLGBEET [HALHIT), W AER

2
BIAEES [P EA]) 12 [Heading M) & &iHAE#

s [fEarmmAa) xm-Ta [ETFmy), RERL (K]
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Edy
e
B IEE

=

B U/HIE AT BHFFIKAIE

Day20: [RIXEE4S

N

SHEEBZEHEIF RS D?

1. W “#eiSE”

2. WM “iEEfSiE

—

FIEERINELZLTM T 2
1. ARBIERE:

2. T R R R S

3. HiRERAR:
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4. MRERFTiHIL, ERISAGE:

=, Z®EHFERWTA?

$iE 1. (B

BRAT 60min 5 (SRR 17-Testl) B9 3 HBFE — TREHK
® EXZEF HEEEMERRA
o HERF HEEM [(MRITEFRE
HRFEEXRGIE. https://ieltscatxdf.cn/mock/detail/read/5304361

TR 2: ot
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BB A B B INE
BU/MIEARS: BHEFLKNE

=
g
FEE

;3 4

Day1 RBARBK
%2 | ( (simicTesn1 K1M) )
Pa¥3 | «gﬁﬁ%ﬁ:ﬁg’;)ﬁ» ) |
Day4 ( «g;isiﬁe%zﬁ-g;ﬁ» )
Day5+Day6 | ﬂgfgf:llje;i;;gﬂﬁ
VDay7+Day37 nﬁfgggggﬁa
Day9+Day10 mﬁf%gﬁmaa
Dayl11 M+ SRS
Day12+Day13 ﬂﬁfggggiggﬂé
Dayl4+Day15 ﬂﬁfggg’gﬁ;ﬁﬂﬁ
Dayl6+Dayl7 mﬁf?ﬁqgg}‘kgﬁzﬂﬁ
Day18+Day19 nﬁfggllﬁsgiggﬂﬁ
Day20 ﬁmwg&@fﬁwlg
UTF8XARBITRH
BNEZHHT
Day21-22 ﬂﬁfgjgggigﬁﬂﬁ
D2 | e e
Day25-26 ngfgglggigizﬂﬁ
Day27-28 mﬁfgg[g)g-;;ﬁ;ﬂﬁ
.
Y. HﬁlELE\ Bﬂ ii '—'5 ﬁﬂt

LR

1. SHERENER=RH

2. SHRNEFES
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HIFRZHEFMATEE 20 X
HIBREE
BIFE AX 20 KA H
BEESIL A RIS — MR TR B LD B
EEEREMmAIRE
HEMEBFHRS. REFER. #EFHWE. FAF
Mt VF
T KX 20 REEE
EE R RIBbEH 2R K 20 FHIEE

Good luck, fellows~
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